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62. 5ng/ <7.8ng/
>2u o/ m >2u o/ mh
168ng/ m
(ng/ml)*
1 2 58
2 2 62.5
3 9 <7.8
4 10 <7.8
5 10 <7.8
6 10 21
7 1 8
8 2 >2000
9 2 >2000
10 2 168
11 9 <7.8
12 10 13
13 10 <7.8
14 10 10
15 10 29
16 10 40
15
4u m
5 10
20% 80% 10

0%



2)

5 6 7 8 9 10
1 8/10 2/11 0/6
2 3/9 2/8 5/14
3 2/13 3/5 1/5 4/14 0/6
80% 23% 38% 27% 29% 0%
3/11 0/9 0/12 2/11 0/12 1/10
27% 0% 0% 18% 0% 10%
15
(ELISA )
RIA

0.15 1.20mg/ml

15

0.47mg/ml 169
1.73mg/ml 107 0.40 4.73mg/ml
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SPEED 98 N\b. 1
D oxi ns
4 5 6 7 8
5§ 8 ¢ % ¢ & ¢
= = = s ) ) o - g
= o = ~ N N o s
< N N = < < N G 8
%) %) %) o %) %) %) o
— — o = o o o o
= = - !
—
pg/ g- vet
1 M 1.1 <0.1) <0.1] 0.60 6.3 2.0 4.4 .3 <0.3] <0.5
2 M 4.0 <0.8 <0.8 6.0 69 19 43 << 4.1 4.3
3 M 0. 88 <0.1 <0.1] 0.56 2.6 1.2 3.00 <0. 1.4 3.5
4 M 3.7 <0.8 <0.8 2.5 28 11 25 17 120
SPEED 98 N\b. 1
D benzof ur ans
4 5 6 7 8
5 5 8 8 8 8 g § f &
< < f f ' | [oe] o
[ [ i i ¢ [ee] [« [ce] - -
b b @ @ N N o5 N ™~ @ é
~ N ~ ~ < < ~ < © ~ 8
Ny o5 @ ~ o5 o5 o5 < ~ =~
- N N o N N N oF @ o
— N - - - - o~ o~
— — — [V - -
- -
pag/ g- vet
1 M 1.1 <0.2 <0.2| <0.2 7.9 1.7/ 0.85 .4 0.35] <0.3 <0.3/ 0.57
2 M 4.0 <1 <1 <1 84 13 9.0 <<? 4.0 <<? <<? <3
3 M 0.88 <0.2 <0.2/ 0.56 59 2.3 1.6/ <0.4 0.75 <0.3 <0.3] <0.5
4 M 3.7 <1 1.3 5.2 67 22 12 8.2 2.2 <2 <3
SPEED 98 N\o. 1
O oxi ns O benzof ur ans
98 8 8 9 8|8 6 & 8 b 5]
= B 2 F B g i 2 E 8 Q
pag/ g- vet
1 M 1.1 0. 60 6.3 6.4 <0.3 <0.5 13| <0.2 7.9 2.9 <0.3/ 0.57 11 25
2 M 4.0 6.0 69 62 4.1 4.3 150 <1 84 26 << <3 110 250
3 M 0.88 0. 56 2.6 4.2 1.4 3.5 12 <0.2 6.4 4.7 <0.3] <0.5 11 23
4 M 3.7 2.5 28 36 17 120 200 1.3 72 42 2.2 <3 120 320
SPEED 98 Nb. 1
Q- PaBs(N\on- or t ho) Qo- PGBs( Mbno- or t ho)
8 g8 g 8
8 B % B8 g B8 8 B8 & & =
< g ® ' —~ ® iy ® [ . ' ' - 2
[ g ! - ' ! ! [Te) - - Te)
. = [Te) in g . [Te) [Te) - i i - § —
i - - - [Te) - - - - n
s |9 o = - . . % . 3 - S §
< - A . 2 ~ 3 A i < A . T < L
- < <t < = < <t <t - <t < < hud 8
. < - < 5 ® A - o5 . - < . S C
a o & - & o o & - e ™ - . <]
5 & 2 N N i ¢ o o5 g o S
- ~ N - - o
o y =
o~
77 81 126 169 105 114 118 123 156 157 167 189
pa/ g- wet pg/g-wet
1 M 1.1 13 10 190 350 570( 8,300| 1,200 46,000 820, 14,000 3,000, 7,500 5,600/ 35,000/ 82,000
2 M 4.0 83 97 1,800 3,600 5,600|70,000 11,000 390,000/ 6,400/ 120,000 22,000 70,000 48,000 310,000| 860,000
3 M 0. 88 19 3.1 72 86 180 910 91/ 3,000 65 1,100 280 650 600 3, 700 6, 900
4 M 3.7 150 31 600 780, 1,600( 7,100 790, 24,000 540, 9,500/ 2,000, 5,600 4,900/ 30,000/ 62,000
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TE- TH
1/2
SPEED 98 Nbo. 1
s 888 o s £y
é é ¥ < = @ é é é + < = IS é
b — c bt — =
Q 5 ©° & é 5 ©5 8
. Q S + . Q S +
AR RN
PgTEQ g- vet PgTEQ g- wet
1 M A 1.1 7.0 8.3 15 21 3.2 25 40 7.5 4.3 12 23 15 38 50
2 M| A 4.0 76 87 160 200 27/ 230 390 81 45/ 130/ 2200 130 350 470
3 M 0.88 3.2 6.5 9.8 8.5 0.28 8.8 19 3.6 3.5 7.0 8.0 1.2 9.2 16
4 M 3.7 31 73 100 720 2.3 74, 180 34 38 72 68 9.8 78 150
SPEED 98 No. 2
PCBs)
na/ g- wet
1 M A 1.1 | <0.08| <0.06/ 0.20 4.6 63 190 130 38 4.9 2.5 440
2 M| A 40| <0.8 <0.6/ 1.9 46/ 630/ 2,100 1,500, 460 57 27 4,900
3 M 0.88 | <0.08| <0.06/ 0.053] 0.51 4.8 17 13 4.0 1.2/ 0.8 41
4 M 3.7 | <0.3 <0.2 0.44 4.6 47/ 160 130 42 12 8.5 400
SPEED 98 Nb. 4 5 12 14 15 16 18 19
@ ooT OOE oD
ST S A
(=] [ca R > ' ' - - - - - -
' [%2] [%2] o o o o o o
%] = c
— [ [
(8] — —
ng/ g- vl
1 M A 1.1 0.80( <0.3| <0.08 5.4 <0.05| 0.43 4.2 21 11 <0.05 <0.1| <0.06 400| <0.06 0.4
2 M| A 4.0 7.1 <l <0.8 56 <0.5 4.3 51| 210 130| <0.5 <l| <0.6 4,900 <0.6/ 4.1
3 M 0.88 0.68 <0.3| <0.08 3.1 <0.05| 0.55 2.2 16 7.3] <0.05| <0.1| <0.06 45| <0. 06 0.8
4 M 3.7 5.9 <1l <0.3 22 <0.2[ 2.8 21 140 73] <0.2) <0.5| <0.2/ 400 <0.2 7.2
SPEED 98 No.| 23 26 33 34 35 36 37 38 40 44 46
<
&
. . ' <
iy < o
~ <
ng/ g- vet
1 M A 1.1 13 4.3 <0.1 <7 <3| <0.3 <8 <5 .9 <0.9 <3 <20 18 <2 9.4
2 M| A 4.0 62 37| <0.5/ <30 <10 <1 <10 <20 <3 <4| <10 <60 37 <7 21
3 M 0.88 1.8 1.6/ <0.1 <7 7.7 <0.3 <8 <5 9 <0.9 <3 <20 33 <2 12
4 M 3.7 8.9 11 <0.5 <30 89 <1| <10 <20 <3| <10 <70 74 <7 14
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SPEED 98 N\b. 1
O oxi ns
4 5 6 7 8
5 58 8 8 88 ¢
5 < 5 Y | " . b
= [ ot s <] o] o ~ Q
s} o) s} - ~N ~N o0 -
< ~ ~ ™~ < < ~ © ]
- - Ny N Ny N Ny @
- - - - ‘:
pg/ g-f at
1 M 1.1 <10 <10 53 550 180 390 <30 <30 <40
2 M 4.0 <20 <20 150| 1, 700 470 1,100 <40 100 110
3 M 0. 88 <20 <20 64 290 140 330 <30 160 390
4 M 3.7 <20 <20 68 750 300 670 <50 470, 3,200
SPHED 98 Nb. 1
D benzof urans
4 5 6 7 8
5 5 BB NN -
3 3 £ 2 £ £ £ £ o )
= =~ | : b b ) b 8 - é
1 1 o] [e0) - - - - ~ [ee]
O O I
A B S S . B A B S P
— N - - [aV) N N [s2] - -
- o - - - N N N
— —
po/ o-f at
1 M 1.1 <20 <20 <20 690 150 75 <30 31 <30 <30 50
2 M 4.0 <30 <30 <30/ 2,100 320 230 <50 100 <50 <50 <70
3 M 0.88 <20 <20 63 660 270 190 <40 85 <40 <40 <60
4 M 3.7 <30 36 140 1,800 600 330 <50 220 60 <50 <80
SPED 98 Nb. 1
D oxi ns O benzof ur ans
g § § § 8 5 § & 5 8 :
= B 2 £ 8 é T R & 5 8 ﬁ g
pg/ g-f at
1 M 1.1 53 550 560 <30 <40/ 1,200 <20 690 260 <30 50 1,000] 2,200
2 M 4.0 150| 1,700| 1,600 100 110| 3, 600 <30, 2,100 640 <50 <70, 2,800 6,400
3 M 0. 88 64 290 470 160 390 1,400 <20 730 540 <40 <60, 1,300 2,600
4 M 3.7 68 750 970 470 3,200 5,500 36 2,000/ 1,200 60 <80, 3,200 8,700
SPHED 98 Nb. 1
Q- P(Bs(N\on- or t ho) Qo- PGBs( Mbno- or t ho)
8 8 g 8
8 g ¥ 8 5 8 8 B 2 ¢ I
< o) % ' Y Y Y ' ' —
= < R m v 8 : : L - R in
\ = 1) in § &b [T} [T} - in in 5 -
- b - 1) < - - - - - 1) - §
< - - - - - - < - -
5 . A 2| ¥l s | X ¢ ¥ 2 ;
- < < < — - <t <t - < < - =
] < - s 858 | w 0% S R -« < 5 8
- 2 - [aV) - - 2] - = ™
) N N N - o3 ) - b
. Z o - - o3 =
o™ N N I
77 81 126 169 105 114 118 123 156 157 167 189
ng/ g-f at
1 M 1.1 1.1 0.91 17 31 50 720 110/ 4,000 72, 1,200 260 650 490 3, 100 7,200
2 M 4.0 2.1 2.4 46 90 140] 1,800 280, 9,800 160/ 3,000 540, 1,800 1,200 7,900 22,000
3 M 0. 88 2.1 0.35 8.1 9.7 20 100 10 340 7.4 120 32 74 68 410 780
4 M 3.7 4.0 0.8 16 21 43 190 21 650 15 260 56 150 130 810 1, 700
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TH- TE-
1/2
SPEED 98 Nb. 1
g 88 8 g s £ 028 g
é é + < = I é é + < = I
g 5 5 8 é 5 5 8
L o) = + L o) = ¥
LA R
pgTEQ g-f at pgTEQ g-fat
1 M| A 1.1 610 730/ 1,300 1,900 280/ 2,100| 3,500 660 370/ 1,000, 2,000 1,300 3,300 4,400
2 M| A 4.0 | 1,900 2,200 4,100 5,000 680/ 5,700 9,800| 2,000/ 1,100{ 3,200/ 5,500 3,200 8,700|12, 000
3 M 0. 88 370 740/ 1,100 960 32 990| 2,100 410 390 800 910 140, 1,000 1,800
4 M 3.7 | 840 2,000 2,800 2,000 62 2,000 4,900 920 1,000 2,000 1,900 270 2,100 4,100
SPEED 98 N\b. 2
PCBs)
x
ng/ g-f at
1 M| A 1.1 <7 <5 18 400| 5,500/ 17,000 12,000 3,300 430 220 38, 000
2 M| A 4.0 <20 <10 47 1,200 16, 000 54, 000/ 38,000/ 12, 000, 1, 400 670| 120, 000
3 M 0. 88 <9 <6 6.0 57 550/ 1,900| 1,400 450 140 96 4,700
4 M 3.7 <8 <5 12 130/ 1,300 4,300 3,600 1,200 340 230/ 11, 000
SPEED 98 Nb. 4 5 12 14 15 16 18 19
@\ Cor DD = oD
T cl alalalal=
> . P P S a S a o a
2 3 3
o _ _
no/ g-f
1 M| A 1.1 70 <30 <7 470 <4 38 370| 1,800 930 <4 <10 <5/ 35,000 <5 34
2 M| A 4.0 180 <30 <20| 1,400 <10 110/ 1,300( 5,400 3,300 <10 <40 <20| 120, 000 <10 100
3 M 0. 88 77 <40 <9 350 <6 62 250| 1,800 830 <6 <20 <7/ 5,100 <6 85
4 M 3.7 160 <40 <7 590 <5 76 560| 3,800| 2,000 <5 <10 <6/ 11,000 <5 200
SPEED 98 Nb. 23 26 33 34 35 36 37 38 40 44 46
<]
&
. ) ' <
hry < o
< <
ng/ g-f
1 M| A 1.1 | 1,100 380 <10/ <600/ <300 <30| <700| <500 <80 <80 <300 <1000 1,500 <200 820
2 M| A 4.0 | 1,600 930 <10/ <700/ <300 <30| <400| <500 <90 <90 <300( <2000 920| <200 530
3 M 0. 88 200 180 <10/ <800 870 <40] <900| <600/ <100/ <100 <300 <2000 3,700| <200| 1,400
4 M 3.7 240 300 <10/ <700| 2,400 <30| <400| <600 <90 <90 <300 <2000 2,000| <200 370




